
MFE of secondary structure around cAUGs
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Mature oocytes

●

●

●

●

●

●
●

●

●●

●
●
●

●

●
●
●
●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●
●

●

●

●

●

●

●
●●●

●

●
●

●
●●

●●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●●●

●

●

●

●

●
●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●

●

●
●

●

●

●

●

●
●
●
●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●●
●

●

●

●

●●

●●●

●

●

●

●

●

●
●

●

●

●●

●●

●
●

●

●●
●

−2

−1

0

−15 −10 −5 0

r = 0.578, P = 5.66 ´ 10−18

0−2h embryos
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2−6h embryos
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6−12h embryos

●
●

●

● ●
●●●

●
●

●
●

●

●

●
●
●
●
●

●

●

●
●

●
●

●

●

●

●

●

●●

●

●
●

●

●
●●●

●

●

●●

●

●

●

●

●

●

●

●

●
●

●●●

●

●

●

●
●
●

●
●

●

●

●

●
●

●
●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●
●

●

●
●

●
●

●●●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●

●
●●
●

●

●

●

●●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●
●

●
●
●

−0.5

0.0

0.5

1.0

−15 −10 −5 0

r = 0.734, P = 3.03 ´ 10−31

12−24h embryos
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Pupae
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Female heads
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Male heads
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Female bodies
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Male bodies
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